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| GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) e e aﬁm—tﬁm;{m aqﬁmzia ﬁ:r@ |

Candidates must write first hlS / her Ro- *w- ' question paper compulsorily.

2) aoft e it & l@?“’
All the questions are compulsory.

- 3) e Y o I <1 TS FeR-gfGrent o & ford |

-

Write the answer to each question in the given answer sheet only.

(4) o gt 3 3T @S &, 39 Tt 3 gew ue wr @ e |

T e S

For questions having more than one part, the answers t0 those parts are to be written

together in continuity.

N S =

(5) o T 3O forE @ Qe SR ST ShHTh e fog |
Write down the serial number of the question before attempting it.
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(7)
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-1 % Tt o ol e 3 ot e ot 32 /o) R 2 e ey sy 3

o 1 € HE A |
If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated valid

Weightage of marks for the question is as follows :
ki ! TR | 31 37 v

@UE-3A(A) | 1(itox),2t011=20 N T RS e

@Ug-9 (B) 12t019=8 2%

wUE-H (C) 20t023=4 ‘T\

@rE-3 (D) 241025 =2 ) L

wE-4 (E) 26 to %&%3 " . +
Py~ R

(8) mmzoﬂzsﬁmﬁmﬁi%@@ﬁmqﬁw%
I

Question Nos. 20 to 28 have the internal option. A '
- Attempt any o
ne option.
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SECTION - A

|, g faeedt ye
Multiple Choice Questions :
) i < e gt aftre e arern vl

(31) e fomy (%) =i

(d) .. Haar : (]) EwgerEd

Welfare definition of economics was given by the economist

(A) Adam Smith - (B) Marshall

(C) J.K.Mehta (D) Samuelson
(i) TATTIS SRGAT T T 956 BT 2

(3) gATeHh (&) UM

(®) &fesr (8). wFad

The demand curve of substitute goods is

(A) Positive (B) Ncgatw?ﬁ

(C) Horizontal

(iif) T2 e <61 b T 20 Sy

i gt
(31) (=) georé wiver & ot
(%) o el o () o <= A

%ﬁﬁ%m 20 ufqerd Rt 8,41 shet 1 |

If there is 20% rise in the price of banana and the demand is decreased by 20% , then

the elasticity of demand will be

(A) Zero elastic (B) More than unitary elastic

(C) Unitary elastic (D) Less than unitary elastic
(iv) T famg e et Seared Fifererem Bran 2, i IeaTg B

(31) 3= (€) =

(W) (g) aftremem

The point where total product is maximum, marginal product will be

(A) Infinite (B) Zero

(C) One (D) Maximum
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(37) e T Tashan
(@) foshanat it sreafirs e

The feature of oligopoly market is 7

(A) Only one seller

(C) Large number of sellers

(vi) WISl % ol 3ETET 8

(9) T9%q Iaared

(]) hiwd gfigg

(B) Homogenous production

(D) Price rigidity

(31) WS (3) efifeem
(&) 3 (®) @
The example of intermediate goods is
(A) Mobile ‘ @)":félevision
(C) Flour > (D) 2Bread
(vii) T % ool o @ie i qhmanmeemh 2
(31) gan s R ot @) aﬁ‘ﬁﬁ'ﬂwm
(") e gored] (r (Q) ST worett

Exchange of goods for goods is known as

(A) Monetary system
(C) Cash system

(viii) 291 T F4 1T ek B

(37) " AIEA §h
(@) R ford d

The Central Bank of the country is
(A)" Punjab National Bank
(C) Reserve Bank of India

SS_]()-Econ.

(B) Barter syste,

(D) Modery System

(3) “T{‘\ﬂ‘q@za%,
(?) rre

(B)  State Ban op

Indj
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(ix) == = Hiwr= g 1 9 2

AY AC

(31) MPS="¢ () MPS= /g

| AY

) (®) MPS=1 (}) MPS="=

The formula for marginal propensity to save is

AY _AC
(A) MPS="¢ (B) MPS = =
AS _AY
C) MPS=" D) MPS=75 1

x) FEddgammhHiee:

(31) F 3™ - @) & T

-'.!‘

(w) Fraet foreeh 0 @§ R

Which of the following is thé itém of revenue receipt ?

(A) Tax revenue (B)~Net domestic loans
(C) Net foreign loan (D) Loan repayment 1
0. T I3 oh1 U IETE ST |
Give one example of complementary goods. 1

3. Icared o Wiy AT 1AM et |
Write the name of acﬁve factor of production. 1
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4.  HHT=q emTd S T R g fefa |

Write the formula to calculate marginal cost.

5. TSR fFaFad e ?

What is a local market ?

6. %ﬁaﬁa@wmﬁmmﬁmﬁﬁw%?

Which market’s main feature is product differentiation ?

7. 3179 % ST YATE Higel ! U a9 36 Tl |

Write one necessary condition of circular flow of inceme mode]

8. TE I Ui Hif | e

Define money.

9. %m%m?lo,ooo%‘rmﬁ'%aﬁwkmo%%?ﬁmm BrTT |

A bank has a deposit of 310,000 and CRR is 20%, then credit multip}; ]
1er wil] be

—_—

10. % mmﬁnmwmﬁ_aﬂmm% |

According to Keynes, plays an important role in inﬂuencing th
€ consumption,

(], HOCASE=FAAE=__

Balanced budget = Total revenue =
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16.

17.

18.

19.
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glg—-¢
SECTION -B

wiT i Frertfia s aret fonedl gt avell o1 oo Hifr |

Mention any two factors determining demand.

ot 3 e 3 & S19aTE ST |

Give two exceptions to the law of demand.

Gl UF i II9R 3§ 31t T8 Hifu |

Explain the difference between retail and wholesale market.

IR T TR o el o &l 1 Jeorg i |
Mention any two sectors of monogglw@diéﬁ E@%iﬁ

)

s
s
Ber et by e

@%ﬁvggﬁys
T T TehTeRT YaTE T W1 S5 |

Draw a diagram of circular flow of Income.

TP 3 o bt TRl Gl SIS o AT Sars |

Name any two difficulties in measurement of National Income.

g farfera yorett <1 S & hieTEal GaTST |

Suggest any two difficulties of barter system.

3t Py R #ed 3 7

What is induced investment 2

gS-10-Econ.

Previous Pathshala

2

[ Turn over




8

-4
SECTION -C

20. <arefure foe 2 1 59 YA % U 1 g deh <t |
‘Economics is a Science.” Give two arguments in favour of this statement.
| FET/OR
3791 el B 7 39 YA o 98 | < e S |

‘Economics is an art.” Give two arguments in favour of this statement.

21. qfd =l e o 9ot gt aea i FESST |
Explain two factors affecting supply.
3ET/OR
ofi 3 Frer 1 Rremsier & 2 ol wt THE |

Explain th0 reasons for operation of the law of supply.

22. ﬁmm%mﬁsﬂaawmmﬁg@ﬁ&q:

T T X afrad
Eik] (TR) . (AR)
1 ‘ Sl e
2 16 B A.......
e
3 24 JV | .........
4 32l asamed s
Calculate average revenue in the given table :
Units Total Average
of Revenue Revenue
Goods (TR) (AR)
| T
[ 2 16 | ...
{ 3 2F | s
[ 4 32 | asmeesuss
IYET/OR
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fore enforent o a0 BT
g k3l =
# I T
T (TR) (MR)
1 10 s s e
2 P 1 e ey R
3 SORN . | snovaes
4 dO0 T | s
Calculate marginal revenue in the given table :
Units Total "Marginal
of Revenue Revenue (MR)
Goods (TR)
! (S Y et -
2 20 | SRolE
3 30
4 40 RN
23. = A st TR LAY | 4
Explain the average propensity to save with formula. .
aar/OR
e oy T Sl <Pl B AR
Explain the marginal propensity to'save with formula.
TE -4
" SECTION-D
24. Iy ﬁu@ammﬁﬁwﬁﬁrﬁaﬁaﬁwﬁ?my
. 1A, hich method is better for measuring National Income and why ? Explain. 5
iew, W
In your view, JOR
. Wm@mﬁiﬁwﬁwm%aml
?{f@ ’ hat is the relationship between National Income and Economic Welfare ?
In your view, W
Explain.
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25. TR S1¢ %1 Wit ud o4 <l Hel Y U =1 g ey |

Show the items of receipts and expenditures of revenue budget with a chart. ‘ 5

AYET/OR
sfira w61 Wit T = <Y HE Y U =1 gr gwise |

Show the items of receipts and expenditures of capital budget with a chart.

o~

Tig -9
SECTION -E

26. Wi et SiHd o= St AT i iR i st qeems |
Explain the percentage method of measuring price ¢lasticity of demand. 6

~ 37ET/OR
i o1 e oA Y TR Bl T R e e

'Qg_ A%

Explain the Geometric method of measuring price elasticity of demand.
- 3ET/OR
nﬁﬁﬁﬂa?ﬁaaﬁmaﬁﬁsﬁﬁﬁaﬁm |

Explain the total expenditure method of measuring price elasticity of demand.

a

qfet 3 ferem wal Wit o1 TETfeE S HarEar § qussy |

27.
Explain expansion and contraction of supply with the help of a diagram. : 6

AYET/OR
qfet # 9fig Te el <kt TETi ht HerEa @ wHwEe |
Explain increase and decrease of supply with the help of a diagram.
FYET/OR

mﬁ@mﬁ@%@%ﬁéﬁmﬁmi

Explain market supply with the help of schedule and diagram,
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28. T Tohedl ©: I Bl o AT |

Describe any six functions of money.

Y=/ OR
mﬁ%wmmmﬁwawa@@%
Describe any three functions of Cg;nmercrglﬁBank in detail.

amgr{cin o
Wﬁ%w?ﬁqﬁwmﬁaﬁﬁﬁm

Describe any three functions of Central Bank in detail.
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